
  
  

2 WOOD TRIPLES RULES 

 

 Each player shall have two bowls,  

 A match will consist of 2 sets, with a tie breaker played if necessary. 

 Each set played over 9 ends.  

 The winner of the toss will choose whether to take the jack or give it away in the first end of the 
first set and their opponents will choose in the first end of the second set. 

 The winner of each set will be the winner with the most shots at the completion of the 9th end.  

 There is no need to play dead ends, eg if one team is 7 shots up after 8 ends.   

 If the shot scores are tied after the last end of a set, the set will be drawn (scored ½ - ½).   

 If the match is tied at 1 set each or 2 drawn sets, a best of three ends tie breaker will be played 
to determine the winner.  

 In the tie break, the winner of each end will get a point, irrespective of the total number of shots 
won on the end.  

 In the tie breaker, the team winning the toss shall choose whether to take the jack or give it away 
in the first & third ends (assuming it goes to a third end). Their opponents shall choose whether 
to take the jack or give it away in the 2nd end. 

 In all other circumstances the Laws of the Game will apply.   

  


